FR30FE AHREFESHEAFORR (FHHD)

No. 1_£HH (CEER304E 3H14H)

% K 4 2R (B 4 AR B1BREL SRR BREE  |gew
FREE FREE FREE

= = woa 80 24 24 24 24 19 19] 0. 30
72 = ! 120 (57) 51 51 51 51 51 51] 0. 89
T % &E&) K 20 5 5 3 0.25
RER T B T % L s 20 10 10 8 0. 50
EES (F ) 40 21 36 21 36 20 31} 0.53
W ¥ 80 19 19 17 17 14 14] 0. 21
i H ¥ @ 160 90 88 71 0.55
S (F3) 40 26 116 26 114 21 92| 0. 65
B dt o ] 80 1 ¥4 1 1 1 1 1] 0.01
B ¥ (B#R) 40 47 46 40 1.15
B ¥ (FERR) 40 41 41 37 1.03
AR B ¥ €3] 40 21 21 15 0.53
B ¥ (&) 40 35 34 28 0.85
B % (A1) 40 43 43 40 1.08
B ¥ (A#) 40 47 234 47 232 40 200] 1.18
T % (BEAR) 40 35 35 31 0. 88
AR T3 T *¥ (B&ARVA) 40 23 23 18 0. 58
I ¥ (BEF) 40 23 22 19 0.55
I ¥ (FER8) 40 29 110 29 109 28 96] 0. 73
w8 240 258 257 240 1.07
fifd g ! (Efr=a—2x) 40 26 26 24 0. 65
! (EFa—2R) 40 37 321 37 320 40 304] 0. 93
oA R wOA 200 211 210 200 1.05
5 & (BE#%) 30 34 245 34 244 30 230] 1.13
o] ! 200 (116)| 101 100 90 0. 86
EH B (EE 40 (27) 17 118 17 117 15 105] 0. 63
T % (BEAR) 40 36 35 34 0. 88
I % (BX) 40 38 37 35 0.93
I % (1FH) 40 37 36 35 0. 90
BaT¥ T % (T4k) 40 36 36 37 0. 90
T % (+A) 40 48 46 40 1.15
T % (4R) 40 44 43 40 1.08
I % (T 40 38 277 38 271 35 256] 0. 95
& ALE Fhi ] 280 290 290] 289 289] 281 281] 1. 03
Elk[E & 40 8 8 8 8 6 6] 0. 20
! 140 189 189 140 1.35
BAFLOW Frlvy” A 10 11 11 10 1.10
T K (FZ5) 30 16 216 15 215 20 170] 0. 50
AN ] 240 243 239 238 1. 00
H O (EE) 40 27 270 25 264 25 263] 0. 63
oA T @ 240 258 255 240 1.06
S EEE (FKER) 40 37 295 36 291 40 280] 0. 90
FEFREE IS (FxV7) 160 118 118] 117 117] 100 100] 0. 73
H E w A 160 127 127] 126 126] 113 113] 0.79
= fifd ] 80 22 22 22 22 19 19] 0. 28
oy sibata X PE 35D 80 34 34 33 33 27 271 0. 41
ok S ERRE]  [10] [7] [7] [3] 0.70
I %% (B8WR) ik 20 21 21 20 1.05
T % L & 20 16 16 17 0. 80
ZL S T % (BER) r BX 20 9 9 9 0. 45
T % L &% 20 14 14 14 0.70
T % (I3R) - Bl 20 17 17 17 0.85
T % L e 20 22 99 22 99 20 97] 1. 10
H K ® @ 120 66 66 66 66 64 64] 0. 55
e I S ! 80 40 40 40 40 38 38] 0. 50
g )l T 8 80 24 24 24 24 22 22 0. 30
MR % @ 80 11 ¥4 11 11 11 9 9] 0. 14
mrE + ! 40 14 1 0 0.03
* (BE=a—X) 40 2 K4 3 2 3 2 2] 0.05

(1) BE, BAME, PR () AOEFZ, ABROEEERZRLIELOTHD,

(HE2) AR R RRRED [ ] 3R

(E3) BER=ABBRIRER-AFER (BEER)

(E4) Bk, WR, WHr+, BRI, ARRL FARIGESETE - EBERIR L FBIREKRE EHT D,




No. 2 #£H#H

- " =~
% K & 2R R & AEE B1mEES RRER GEGEE S PP
R AR R
x5 ¥ E 80 26 26 25 25 23 23] 0. 31
B % (B =) 40 34 34 36 0.85
B EE B ¥ (77Y) 40 25 25 26 0. 63
B ¥ (V=) 40 24 24 23 0. 60
S (a—F 4 F—h) 40 44 127 44 127 40 125] 1. 10
I S ) ] 200 (132) 90 90 90 90 90 90| 0. 68
(i o i} 40 12 12 12 12 9 9] 0. 30
T % (B8M) R 20 12 12 12 0. 60
T % L p® 20 14 14 14 0. 70
fEEILE T % (#®) LK 20 20 20 20 1. 00
T % L mz 20 20 20 20 1. 00
T ¥ (BEX) 40 16 16 16 0. 40
T ¥ (1FER) 40 40 122 40 122 39 121] 1. 00
a8 ES woa 120 83 83 83 83 79 79] 0. 69
B K T 8 80 2 4 2 2 2 1 1] 0. 03
R s & 5050 (s822)] 3637 3605 3338 0.75
GRS (k&A1) 140 171 170 140 1.21
ERILEES GIES (#:=+%) 70 81 81 70 1.16
IS (TE#+1) 35 40 40 35 1.14
GRES (A R7Y) 35 37 329 37 328 35 280] 1. 06
m i Bt 280 329 328 280 1.17
=) &t 5330 (5102)| 3966 | 3933 | 3618 | 0.77
2 &R i) B AT
¥ & & 28 B 4 AER B1GEEk RBER LGRS PP
SRR SRR EReE
H = ¥ ER) 40 19 19 19 19 16 16] 0. 48
s T BE) 80 82 82] 80 80| 76 76] 1. 00
-1 i 120 101 99 92 0.83
(1) HeR=ABBEZIRER - AFER
FR30FE EHEEPE-—BRERICELIFINRESBEFORI (F&)
~ . N
5 B 4 SR R & Axpn | BB EE e R GRAGE SN P
R AR R
& dt ¥ @ 80 15 15 15 15 15 15] 0.19
BOK ¥ 8 80 30 30 30 30 30 30] 0. 38
mwE+ ] 40 16 16 15 0. 40
® & (BE=a—R) 40 0 16 0 16 1 16] 0. 00
=S E E 80 31 31 31 31 28 28] 0. 39
=3 &t 320 92 92 89 0. 29
(FE1) HEAHE - BHERICFRLFREKOBEERIX. AREBRNE L, FITEDR,
(FE2) RER=ZRER - AFEER




